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1 (a) (i) Describe the changes in population structure shown in Figure 1.
' [3 marks]
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1 (a) (ii) Suggest reasons for the changes in the EU population structure shown in Figure 1.

[4 marks]
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1 (b) (i) Inwhich stage of the Demographic Transition Model does total population steadily
decline?
3 [1 mark]
{
Stage: ............ 3 ..................................

1 (b) (ii) Explain the impact of population decline at this stage of the Demographic Transition
Model (DTM) on economic development.

[4 marks]
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1 (c) Study Figure 2, some statements about the benefits of educating women in poorer
parts of the world.

Figure 2

If a mother has received five years of education, her children are 40% more likely to
live beyond the age of 5.

Every 1% increase in the number of women with a secondary education increases a
country’s income growth rate per head by 0.3%.

Educated girls marry later and have fewer children, leading to better levels of health
care. They are also more likely to send their own children to school.

A Bangladeshi study found educated women were three times more likely to take
part in political meetings than those without an education.

Crop yields in Kenya could increase by up to 22% if women were better educated
about farming methods.

1 (c) (i) Use Figure 2 to state one benefit to children and one benefit to the community of
educating women.

[2 marks]
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1 (c) (ii) Outline how educating women affects population growth.
[3 marks]
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Section A

Answer one question from Section A and one guestion from Section B and one other question

from either Section A or Section B.

Use case studies to support your answers where appropriate.

Total for this question: 28 marks

1 Population Change

1(a) Study Figure 1, a graph showing changes in population structure in the

European Union (EU), 1950-2050.

Figure 1
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6 Do not write
outside the

1 (d) Discuss the successes and failures of China’s population policy since the 1990s.
[8 marks]

[SPaG 3 marks]
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Section A

Answer one question from Section A and one question from Section B and one other question

from either Section A or Section B.

Use case studies to support your answers where appropriate.

Populaticn Change

Total for this question: 28 marks

1 {a) Study Figure 1, a version of the Demographic Transition Model.
Figure 1
Stage 1 Stage 2 Stage 3 Stage 4 Stage 5
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1 (a) (i) Which stage of the model does the following sentence describe?

[1 mark]

As the standard of living rises, the birth rate falls rapidly and the death rate remains

low.
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1 (a) (ii) Draw a labelled sketch of a population pyramid for a country in stage 2 of the
Demographic Transition Model.
[3 marks]
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1 (a) (iii) Describe how the structure of a country’s population changes between stages 2 and 4
of the Demographic Transition Model.
[3 marks]
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2 (c) (ii) Suggest how one or more of the conditions shown in Figure 5 affects the lives of the
people living there.

[4 marks]
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4 Do not write
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box
1 (b) Study Figure 2, a graph showing state retirement ages in selected European countries
in 2012.
Figure 2
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1 (b) (i) Use the following information to complete Figure 2.
[2 marks]
Country State retirement age (years)
Men Women
UK 65 61
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5 Do not wrife

1 (b) (ii) Account for the strategies adopted by one EU country to cope with an ageing

population.
[8 marks]

[SPaG 3 marks]
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1 (c) Study Figure 3, a cartoon about immigration and unemployment.
Figure 3
“Your father"s- a;moyed
because migrants are more
useful than he is.”
1 (c) (i) Explain the cartoon’s message about the impacts of migration on the receiving (host)
country.
[4 marks]
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1 (c) (ii)

Use one or more examples to explain why people migrate within the EU.
[4 marks]
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Total for this question: 28 marks
2 Changing Urban Environments

2 (a) (i) Outline one impact on the environment of the increased use of road transport.
[2 marks]
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2 (a) (ii) Study Figure 3 on the insert, part of a map showing traffic-free cycle routes in
Edinburgh, a city in Scotland.

What type of map is shown in Figure 37

Circle the correct answer.

choropleth isoline opological

2 (a) (iii) Use Figure 3 and your own knowledge to explain how the impact of road traffic on the
environment can be reduced.

[1 mark]

[4 marks]
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2 (b) Study Figure 4, a graph showing some improvements resulting from one government
inner city scheme.
Figure 4
Reductioninburglary | = 0 e
Reduction in vehicle crime
Increase in availability of
decent council housing
Residents who say the
scheme has improved
the area as a place to live
“by a fair amount” 4 N W
0O 10 20 30 40 50 60 70 80 90 100
%
Use Figure 4 to explain how residents have benefited from the scheme.
[3 marks]
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2 (c) Study Figure 5 on the insert, a photograph showing part of a squatter settlement.

Figure 6 is a black and white copy of Figure 5.

Figure 6
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2 (c) (i) On Figure 6, mark with an arrow and label three characteristics of this squatter

settlement.
[3 marks]
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